ERRES

m B AR EIESAS (E4105mEB)

(L EFEHAAR
g fir i B 4 HE (k g) Bl 48 Ha) | 18 AR EB®)
1L * oy NV 3,24,588 109.4 10.3
27 = ® ) Ul 2,181,223 0.6 6.9
307 - £ h = 2,169,377 83.3 6.9
B o4af | DB BEWNWI A 1,675,800 8.1 5.3
5L i AU A 1,476,990 126.6 4.7
6 fiL e 7 7 1,3%,693 107.5 4.3
74 7 VY il 1,335,518 0.6 4.2
& | 8fiL 5 r 1,328,467 104.9 4.2
9 i - 7N vy 1,187,385 104.4 3.8
10 i s < S W 953,03 103.8 3.0
- e ) fth, 14,656,880 97.6 46.4
= it 31,575,863 %8.6 100.0
JIE§ Az o H 4 e (M) BT 4E Fhe) | M R M)
1% = ) ) ) 616,100,669 8.5 7.5
21z {aa JER i 38,517,964 105.6 4.4
34 * o NV 318,478,083 103.0 3.9
& | afr - N vy 282,442,179 9.6 3.4
57 B C 243,614,276 4.4 3.0
6 fir A A 7 227,168,226 0.4 2.8
7L kB VY il 204,277,138 8.7 2.5
| sfr 7= % =3 200,169,638 8.5 2.4
9fir i A U A 195,584,471 9.3 2.4
10 fir ke =3 193,734,923 97.2 2.4
- - ) L 5,364,654,340 95.0 65.3
& 5 8,204, 741,855 4.5 100.0

felica
JIE§ Az oOE 4 B (kg) Bl 4E Ehes) | M AR PR
1L * oy NV 3,2%4,588 109.4 15.2
2/ = e ) ) 2,181,223 2.6 10.2
3L = ¥ h & 2,169,327 3.3 10.1
B 4 B TEWI A 1,675,800 8.1 7.8
5\ i AU A 1,476,950 126.6 6.9
6 fir i < S 953,023 103.8 4.4
7L T v L ox oaL,3% 102.8 4.2
| 8fr 74 DS = S SR 816,047 ®.1 3.8
9fir & * L 636,210 2.0 3.0
10 fif. e X 501,469 %.8 2.8
- e D it 6,814,940 9.0 3.6
& B 21,470,922 %8.3 100.0
JIE§ Az B 4 & ([) R 4E b(e) | K FLe®)
17 = ) ) Ul 616,100,669 86.5 1.7
2L * ¥ NV 318,478,03L 103.0 6.0
3L = ¥ h = 200,160,638 8.5 3.8
& | afr i AU A 195,534,471 9.3 3.7
54\ e x 198,734,923 97.2 3.7
6 fir L * & 188,004,315 87.1 3.6
M| 7 om oy 3 ) — 161,853,921 107.6 3.1
| sfi | HBLIVOEWI A 160,022,135 80.9 3.0
9L 7 7 156,447,985 87.7 3.0
10 fif. | - = N 152,040,327 104.4 2.9
- = D 1t 2,943,80,82 4.6 55.5
& it 5,286,266, 247 R3.4 100.0




(3)FE

I Az B 4 (k g) B4R Ehs) | M AR LE(®)
14z 2N va va 1,3%,693 107.5 14.8

2 i 4 A R 1,335,518 2.6 14.6

307 BN r 1,328,467 104.9 14.5

afif s iR A 1,187,385 104.4 13.0

5L | T 7 7 v A 192,205 8.1 2.1

6 fir e ik b 184,541 97.3 2.0

7 4r e N %) 163,2% 106.2 1.8

| s | NA v T v I N 154,275 5.8 1.7
of. | ¥ I v = T 152,546 8.2 1.7

i | & b B & ® 149,571 2.7 1.6

- e ) fth, 2,948,800 101.0 2.2

= it 9,158,237 100.0 100.0

JIE§ Az o H 4 () = Hus) | AR ER%)
147 %= & b 38,517,964 105.6 13.4

2L I N vy 202,442,170 9.6 10.6

3L BN C 243,614,276 4.4 2.1

& | afr A VA A 227,168,226 0.4 8.5
57 kB VY 7> 204,277,138 8.7 7.6

6 fir E L B L ® 163,442,921 8.5 6.3

M\ 7T 7 v = 7 €0,878,9%5 9.0 3.4

w| sfr | 7 7 7 v A 5,685,837 85.9 2.1
9 fiL. *x - U g 53,963,610 R3.7 2.0

Wi | NV T F LY 42,740,356 93.7 1.6

- - ) L 45,39,037 101.8 35.4

= at 2,673,130,63 %.6 100.0

(IR - NILE, - Z0Ah
JIEE A7 B 4 ¥E (kg) T4 sy | A AR HEes)
141 F ®» b L 564,887 %.1 0.7
2 fif ] i 135,240 9.0 14.3
3 | 1F L O v A 47,310 9.0 5.0
¥l o4z | B WS W S 10,489 70.7 1.1
541 F Lo & 9,8% 2.1 1.0
6f | & & A T 1F 9 8,219 107.1 0.9
EZ VAN A - S 6,90 51.1 0.7
&8 | sfr B B A S 7 5,92 105.6 0.6
ofr | 7= F » F+ K & 5,73 115.5 0.6
10 fir H B 5,727 3.8 0.6
- s %) it 146,12 76.4 15.5
& 5 46, TA 9.2 100.0
NE A W B 4 & (M) R AE i) | AR Hs)
14 F O b L 67,620,687 101.2 21.6
24z e i 34,301,324 4.9 14.0
34 L o & 22,394,391 87.8 9.1
& 4f | 1T L E W A 10,165,333 101.4 4.1
50 |2 iELEWVWI A 7,173,571 101.5 2.9
6 fiL LS = 5,131,434 A2 2.1
ZZ A - S-S NN = S| 5,059,969 127.6 2.1
| sf | B B H D T 4,648,802 105.3 1.9
9of | v T W 3 F 3,673,660 77.4 1.5
o | A vy b E X 3,58,18 61.4 1.5
- e D e 81,567,581 3.8 3.2
& it 245,344,970 %.5 100.0




